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QUESTION 1

An administrator wants to implement persistent NAT for an internal resource so that external hosts are able to initiate
communications to the resource, with the internal resource having previously sent packets to the external hosts.

Which configuration setting is used to accomplish this goal?
A. persistent-nat permit any-remote-host

B. persistent-nat permit target-host-port

C. address-persistent

D. persistent-nat permit target-host

Correct Answer: A

QUESTION 2

The monitor traffic interface command is being used to capture the packets destined to and the from the
SRX Series device.

In this scenario, which two statements related to the feature are true? (Choose two.)

A. This feature does not capture transit traffic.

B. This feature captures ICMP traffic to and from the SRX Series device.

C. This feature is supported on high-end SRX Series devices only.

D. This feature is supported on both branch and high-end SRX Series devices.

Correct Answer: AD

Reference: https://forums.juniper.net/t5/Ethernet-Switching/monitor-traffic-interface/td-p/462528

QUESTION 3

Malware that is detonated by the JATP sandbox must be able to communicate with the Internet without being able to
harm your local network resources.

Which statement is correct in this scenario?

A. The management interface must be connected to the Internet zone
B. The exhaust interface must be connected to the Internet zone

C. The honeypot interface must be connected to the Internet zone

D. The monitoring interface must be connected to the Internet zone
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Reference: https://www.juniper.net/documentation/en_US/release-independent/jatp/topics/topic-map/jatpgetting-

started.html

QUESTION 4

What are two important function of the Juniper Networks ATP appliance solution? (Choose two.).

A. Statistics
B. Analysis
C. Detection
D. Filtration

Correct Answer: BC

Reference: https://www.juniper.net/us/en/products-services/security/advanced-threat-prevention/

QUESTION 5

Click the Exhibit button.

userf@srx> show security mka statistics

Interface name: fxpl

Received packets:

Transmitted packets:

Version mismatch packets:

CAK mismatch packets:

ICV mismatch packets:

Duplicate message identifier packets:
Duplicate message number packets:
Duplicate address packets:

Invalid destination address packets:
Formatting error packets:

0ld Replayed message number packets

o 9O O 0O Qo o O o W W

While configuring the SRX345, you review the MACsec connection between devices and note that it is not working.

Referring to the exhibit, which action would you use to identify problem?

A. Verify that the formatting settings are correct between the devices and that the software supports the version of

MACsec in use
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B. Verify that the connectivity association key and the connectivity association key name match on both devices
C. Verify that the transmission path is not replicating packets or correcting frame check sequence error packets
D. Verify that the interface between the two devices is up and not experiencing errors

Correct Answer: B

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/command-summary/ show-security-
mka-statistics.html
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